goooobogogd 0120

e lUOOODODODOUOOOODLDODO
e 2l0I0O0OODODOOUOOODLDODOOOOO

e JU0ODLOOOODLOUOODLLOOUODLObLOUOLDbDOUODLDOUUOLDUOOD DO
gbogbdoobuoobuoobuoobbobboobben4000bDO

20000000000000000000000

goooboogooobogogogn

gidoooooooooobobbbbbotuoodooooooooboo
gogbobobboogooboboobbboooooboobobobbbooodgbe=0
ggbboboogobobbboobbbuooobbuooobbboooooobooo
ggbobobbooooobobobooobobobboooooda
-

+000 (0,1 000000010000000000000000000¢
00:000000000000000000 w(te)0000000000
00000000000000000000000000000000000
0000000000000 f(z)0¢x)0000000000000

w(t,z) 00 (t,z) € [0,00) x [0,1]00000000000000000000

0*u 0*u
w(t,x)—@(t,x) for t>0,0<2x<1 (1)
u(t,0) =u(t,1)=0 for t>0 (2)
u(0,2) = f(x), tl—ig—lo %(t,x) =g(z) for 0<z<1 (3)

(2)000f0)=f(1)=¢(0)=g¢(1)=0000000000000000000

e f(x)0 [0,1]00000 (0,1)00000000O0 f(x) 00

O000f(z)0[-1,1]0000000000000O0O0O00O00OOOO0O
00000000000 ooofMo)=f(1)=0000000000

e g(x)0 [0,1]0000O (0,1)0000000000

J

gogdooobbbboooogouobobouooobobbbbbooooo
u(t,x) =T)X (x), T(t) Z0,X(z) Z0

00000000000000(1)0 (2)0000000000000(1)000
T'HO)X(x) =THX" () (0<t,0 <z <1)

1



T”(t) B X”(ZE)
ODODDOOTE #0.X(@) #0080 (2) 000 7oy = 505

goboboodg «0u000uogbtgbbbuoooobooaobobogd
goooooobobonbo -Aa00obgo

goooo

T//(t) _ X//(x) _ _)\
T(t) X(x)
o077, X0o0oooooooboooooooo
T'(t)+AT(t) = 0 (0<t) (4)
X'"(x)+XX(z) = 0 (0<z<]1), X(0)=X(1)=0 (5)

e (H)DODODUDDDODOOODOUDODOODUDDOUANODOODOUDOODDOOOUODOmM
A= () (n=1,2,...) (6)
0000000 G)boboo00OoU0d n=1,2,...0000
Xi(r) = Xnrp2(x) = Csinnmx
goooboooocoboonog
e 00D AN=(nr)?0000 4)000000A, BOOOOOOOOO
T"(t) + (nm)*T(t) =0 000 T\(t) = Tiunye(t) = Acosnat + Bsinnmt

e 10000 n=1,2,...0000
Acosnrt + Bsinnnt)sinnrx (0 <t,0 <z <1)

(
00O(1)0 (2)0000000000000 (3)0000000000000
0000 f(2),9(z) D00000(3)00000000000000 f(z) =
sinz, g(x)=000000n=1,A=1,B=00

e 10000000000000000A, By, Ay, B,,...000000mO0
00000000000 (1)0 (20000000000 (3)0000000

u(t, x) o (A cosnmt + B, sinnrt)sinnre (0<t,0<x<1)

n=1

00000000 f(2),g(x)000000A;,By, A, B,,... 00000000

m

u*(t, x) & lim_ > (A, cosnmt + By, sinnt) sinnrx (7)
n=1

000<t-o<z<ocod00000000000000D0O000(1)0 (2)
0 (3000000

J




0000000 (3)000 Ay, By, A, B,,...000000000000000
00000 f(z),9(z)0[-1,1)00000002000000000000

e f(z),g(x) 0 Fourier 0000000000 O0O0OOOO (x000D0ODODOO
< /ol
flz) = Z(/ f(y) sinmrydy) sinnma,
n=1 -1

g(x) = nf:l (/_11 g(y) sin nﬁydy) sinnmx

e 000 (70000000 (0,2) 0000000000000
u (0,2)=> A,sinnmz 000000000000
n=1

A, ¥ /1 f(x)sinnrxdr = 2/1 f(z)sinnrxdx (8)
-1 0

0D0000(7)0000000000000¢+=000000000000
0 (x0000000w(0,2)=f(zx)0000

e 00000 (r)ODOOUt¢tOODDODOOODOUOUUODODDDODOODOUODODOO
rddd¢:t=000000000000000000t—=4+0000

o0

o0
> (—nwA, sinnt + nw B, cosnat)sinnmz  — Y nwB,sinnrz (9)
n=1

n=1
gdoooooooood

def 1 1 : 2 ! .
= — [ g(z)sinnrader = — | g(x)sinnrrdr (10)
nm J-1 nm Jo

B,

O00000(rmOoooo+¢t00O0O000o0oO0o0ooooooOt=00000

*

0
DDDDDDDD(J:DDDDDDD limi(t,x):g(x) ooono
t—=+0 Ot

0ooooo (8),(10)0 4, B, (n=1,2,..) 00000000 (7)00000

() DoDDoDOoO00o0<t,—o<z<ooOOOOOOOO
(iil) DO000DD0D0O000000000000<Lt,—o<zx<ocoOOOOODOOOO

gooooobobboudn -gdogooooobbogoooo

e ()000000(7D0 uw(t,z)000<t,—co<z<ocoOOOODO
w(t,0)=u*(t,1)=0 000000(2)00 (3)000000000



e 00D (G)0DDDOODOUOUODODODODOOO

au* [e o]

E(t, z) = Y (—nwA,sinnwt + nrB, cosnmt) sin nrw
n=1
82’&* oo
W(t’ xr) = Z 2 (B sinnmt + A, cosnmt) sin nmx
ou*
8—(t’ xr) = Z nr (A, cosnrt + B, sinnnt) cos nwx
x n=1
O*u*
W(t’ r) = — Z > (B, sinnnt + A, cosnrt)sinnmz  (11)
xr n=1
D0<t-c0<z<oo000000wi )0 (1)0000D0D00 (9)0
a *
DD—%ﬁJjDDDDt:ODDDDDDD(@DDDDDDD

gobooboggdgbobogodooobdoodagn

(1), (2), (3) 00000 u(t,»z)000000¢0000000 E®)0O000O0

oo , )
Et) def; {(g‘:(t :c)) + (%(t,x)) }dm

O0D0D0EDOt0<t<oo)J0OO0ODOOO0OO0OOOOOOOOOOOOOOOO
ggbbobobooogobbobuoooobbooogboon

o E(t) = 2/ ))}de

ERERN
O0000O0O<ae<b<1OD0O0ODOO

def 1 [0 ou 2 ou 2
Eq.p(t) = 5/ {<8t (t, x)) + <%(t,x)> }dx

00000u(t,z)00(t2) €[0,00)x[0,1]0000000000000000O0
000000000¢te(0,00)00000000000000000000

d 1 (o (ou 29 (du 2
aEa’b(t) = i/a {a (E(t,$)> + a <a (t fL')) }dl‘
ou 0*u ou 0*u
- / (875 () 55 (b ) + 5 () o (8 g;)) dz
/b oudu  Ou Ou ououl’
= — =5+ doe = | ——
o \ Ot 02 Oz Otox ot Ox "

4




ou ou ou ou
ot ottt b)ax(t b - E(t a)c‘?x(t’a)

ou ou 6u ou

00000000000 (1) 00o0oooooooooooO (2)oo0

(t 0)=0 (a—+0,b—1-0)

ou ou
ot o (h0) = ot prl

O00000000a=1/nb=1-1/n00000n —-0c000000 ¢t e (0,00)
ggbbobooogobboooobbbooogoobooo

d d

dt n—00 dt

t,1)=0 (t>0),

O000EWOOt=000000000000E(®() = E£(0)0

gogboboggdooobbooggbooboodd

0D0000000000000000000000000000000000
00000(1),(2),(3) 0000000 w(ta)u(t:) 00000000000

w(t,z) = uy(t, ) — us(t, x)

00(tz) €[0,00)x[0,1]000000000000000000000000O0O
00@3)00f(z)=g(x)=00000000

Pw 0?
w(t,0)=w(t,1)=0 for t>0 (13)
ow
= i - = <
w(0,z) =0, IEE 8t(t z)=0 for 0<zx<1 (14)

1 1
DDwDDDDDDDDM@zi/{UHHMzODDD
0

Et):%/ol{<%—l;(t,x)> 4 (%(t,x)) }dx:O

DDDD(%“t@Yz(%%L@YzOD(m@e@aﬁx@UDDDDDD

0000wtz 0 [0,00)x[0,1]0000000 wt,z)=w(0,2)=0 00000



21.000000000000000

20000000000000

gbobbbodobbuodbbuoobbuoobobuooobbuooob200b00bD0d
gogobbboooobobbo-obbbbooooobbo

/
00000000 (0,000000000000 uw(zr,y) OOOOOOOOO

0%u 0%u
@(x,y)Jra—yz(x,y)—O
DDDDDDDDDO§0§2m0<n{a7:T®w 000000000
y =rsinf,
w(r,@)d:efu(x(r,ﬁ),y(r,e)) O0000000oooooooo
0w 1 0%w 1 0w
. 32( 0)+—2w( Q)+;§(T,9)—O (15)/

gdooouoouoouoouoooo
00000000 u(z,y),z=gi(t),y =), 00000
F0-20) = G050 THO + G ) G

dt
v =gpa) {p = fi(z,y)
y = g(p,q) q = fax,y)

w(p,q) = u(g1(p, q), 92(p, q)) & u(w,y) =w(fi(z,y), f2(z,y))
000000000 (z,y) 00000

DDDDDDDW@@¢M@@DDDDDD{

Sy = T 0) ) 0 0) + S o) folan) 2 o)
0000000000y = f(z) < ﬂwmmmmmmga) (%%ﬂ@ﬁqm
DDDDDDDég:-ﬁ> 0ooo0

dx d

DDDDDDDDDDDDM = (fi(@). falr, ) & (2,9) = (91(r.6). go(r.6)

d
DDDDDD—— (Ehﬁxytﬁawg 00O00O00O000ooO
DDDDDDDDDDDDDDDDDDDDDDDDDDDD

or T T

%(x,y) B Vaz + 2 B r(z,y)

0
ggbbobuooogboboboooobobuoooon a—%((;) 0
v r

@(r, 0) = cos

= cosO(wy), >
:



gobboboooobobooogn

gdmogooooobobobbbbbbbbuoooooobboooobbon
goodooogoooooootoubddoddoooooooooooon
ggbboboubooooobbboooobbbuoooobbbogo
/

000 a,bpq(0<a<b)0000000000000 a®<22+42<b?00
00000000000000 wu(z,y) 00

Pu  u x,y)|a? = 22 + 12
Pu U gy = 7 {( wb 2 %}
0z? Oy {(z,9)|b* = 2° +y°}
goooooooon
N J
O0ddbb 0o pooboosoooooono oo
0oo0oooooooooodoodooooooooooooooooon
goddoooooooobooooooooooouooboooouooooa

2DDDDDDO<9<2wa<r<b{ =resf  oppgoooooo
=rsiné,
O0000ooooooooodd w(rb) —U(TCOSOTSlD@)DDDD
82u+82u_0 - 82w+182w+18w_0
ox? Oy or?2  r200%>  ror
gdodoooodooodooouoooooooboooooooooooon
0w 1 0%w 1 0w
w(r,@)—i— 2892(7"9) Tar(r,e)zo for a<r<b,0<6<27 (16)
w(a,0) =p, wb ) =q for 0<60<27 (17)
w(r,0) =w(r,2r) for a<r<b (18)

gogbbbbooooogbbbbooobbbooooobooboogon

w(r,0) = R(r)H(0), R(r) #0,H(0) #0
0000000(16)0 (17)0 (18)0000000000000000(17)000

p q
H(0) = = —— 0<6<2
O %@ " mey  O=0E
000000000000000000 w(r,§)=R(r), R(r)£0 0000000
0000000000 (®ODODODODODODOoOoOOOO0O0U00ObOOOOOO0Oo

0D ((O000000000000000000000
1
D000(16)000 R'(r)+-R(r)=0 00000r>0000000000
T

rR'(r)+ R(r) =0, R(a) =p, R(b) = q



ggbobobbooooobobobooooon

PR AR _d (AR AR _C
rdr2 dr — dr rdr a dr r

oO0oooooboobe,pooooogon

R(r)=Clogr+ D

P—q D_Jm%b—qbga

C,pooonon R(a)=p,R(b)=q000C = ——— =
’ (@) =p R =q loga — logb’ logb — loga

/
gbobobuoooobbbuoodgbbbbouooobboboooobon

u(z,y) = R(r(z,y)) ((¢ — p)log\/2? + 42 + plogb — qloga)

B logh —loga

1 2

1 2+ ol b
= ——— [qlog————— 0g ——
logb — loga 1708 a b g\/x2—|—y2

ggooboogggoobodoodggn

gododooodooodooodoooooooouno -gogooooooo
n000000000000 DOOOOOeDOOOOODODOOOOOOOO
00 u(z)00000

o Au(x)

o Au(z)

(xe D\OD) 00O0O0wu(z)000oDOO0O0O0OOOODOOO

>0
<0(zeD\9D) 00DDwu(z)000HDOOOOOOOOODOD
000O0D\dD O DOODOOOO\OODOOOOOO

000000000000000000000000000000000000
000000000000000000000000000000000000

ggbbbooogobobobuooodgbbbbobbbooooobboboo



goooood
A-1. 000000DOO0ODOOOO0OOO0ODOODOODODODbOODbDOD

0000000 (00O (1)ooooooooooooo

e A,0 f(x) 000000000 OnDODOOOOOOOOOOOOODO
e B,0y(lx)DOODOUOODOUODODOnODODOODOOOOOOODOODOO

000000000000000 n,e?0000000000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
ooooo

(OO0 (1)00000000000000 Y ¢.(t,2) 000000

n=1
no+m

Quom(t,7) € Y ¢u(t,z) 000De>00000000 700000

n=no

|Qnem(t,x)] < e for m=0,1,...;0<t —00o <z <00 (19)

gobobuooooboo
0000 Y —(nm)? (Businnat + A, cosnrt)sinnre 000000000000

n=1

qn(t, ) def —(n7)* (B, sinnwt + A, cos nrt) sin nrx
oooo@9)ooooooo
O00O0sin0 = sinnr =0, £(0) = f(1) =0, f(0) = f"(1)=0,00 fO0D000
goouoobbbobboooooooon

% = /01 f(z)sinnrrdr = —% ([f(x) cos nm)) — /01 f'(x) cos mmdx)
_ 7 f'(x) cos nradz
nm Jo

- (njr)Q ([f’(x) sin ], — /01 1 (x) sinmmdx) = ...

= ! 3 <[f”(x) cosmr:v]é — /01 1" () cosmmdx) = ...

— o <[f”’(x) sin narz], — /01 " () sin mmdx)

1
= / " (x) sin nrrdz
0

1 K of 2
/ |f””(x)|d$ < jalet 3 000K, def & max |f”"(x)|
0

ni 74 0<a<1

A, <




O0O00Osin0=sinnr=0,9(0)=¢(1)=0,00 g00000CO0O00OO00OODOO
goooboooboobuoobO K, Oobooo

B 1 1 X
5 = / g(z)sinnmaede = —— ([g(x) Cos nﬁx](l) - / g'(x) cos mr:vd:p) =...
2 0 nm 0
1 . 1
- (mr)3 ([g”(x) cos nﬂx]o - /0 g"'(x) COS nm:dx)

2 2 Ky

Bl < gy mas(ly" (D], 19" (0)) 2+ s s, lo" ()] <

IN

oog Z—2<oo 0odoodod e>0oddbooooobooon oo
nzOn
000 m=0,1,..,t1<t, —co<zx<oco OOOOO

no+m no+m

Qo 2)] < D |agult,z)] < D (nm)? (| Byl sinnnt| + |A,|| cosnrt|) | sinnma

n=ng n=ng

no+m K K. no+m 1
< Y P () =R Ry S <

4
n=ng n n=ng

A-2. 0000DO0ODOOOOOOO

—~

DDDD@WM?@@DDDDDD{x = 31(p.q) @{p ~ fi(z,y)
y =92(p,q) q = foz,y)

w(p, q) = u(g1(p, 9), 92(p, @) & u(x,y) = w(fi(z,y), f2(z,y))

Oou Owadfi Owdfs
ooodl —=——+——-000gooogoong ooooo
or  Op Ox + dq Ox (z.9)

8 8 8 1 a a 2
a_Z(xay) = a—/(;(fl(l',y),fg(l',y))%(l',y)—f-a—l;(fl(l‘,y),fQ(ZL‘,y))é(l‘,y)

000000000000000000 (p,q)0O0O0O00

%@@@ﬂﬂWDZ%&W%%mm%mme?ﬂn%&mm%mmm)

00000 (15 0000000000000
DDDDDDDDDDDDT—Mﬁ+y2Q—deyDDDDDQ—deyDD

000002z y00000000000000<0<% 00000000000
e t>0,y>0 <—>0<0<2Dx<0y>0<—>2§0<ﬁﬂ

3 3
ox§0w§0<+W§9§7;Dx2Qy§Oe%§§9§2WD

10



O00000000ooooooOoggl=Atan(x,y) OOOOOODODOO
r,00 z,y0000000D00O00O0O00O0O0ODOODOO

JOU_ T = O _y
or 22+ y2 v Oy 1’
00 1 -y oy 00 1 1

TR AW me iR i
o (x) 1 ozor -2yt OPr a?

012~ Ox T 20 P g2 3
.@_£<_z)__ <_3>@_2x_y >0 _ 2uy
022 or\ r2) " Y ox  r+’ oy2 ot

defc‘?w difaw d£f82w

w(r, Q)EU(TCOSH rsinf) 0000 w
goooooooobobobood

%(:p,y) = %w(r ¢) (000 r=+/22+4+y?, 0 = Atan(z,y))

= 0 (r(2,), 600, )) (7 9) + wolr(2,), 62, )) 5 (5,9)

0*u 0 0

E) Wy = @a Wrp = 87"897

Gente) = - (et 8e ) G ) + 5 (el (o), o) 5 )

(0 OO (o o\ 0
N w’"’"ax wW@x ox wT(%Q w%@x w”’ag; ox weaxQ
oo (20N g, 200 (20N, O OO
- Yl as Yo or T\ By Y2 T g2
00000000 A«O000O000O
Pu  0u
ax2 a2—Awrr—l-QB’wrg—l—C’wgg—i-D’wr—l—Ewg
def [ OF or 2_ZL‘2 y? B
ooooo A_<8x> +<a—y> _ﬁ+r_2_1,
of orog ordd\ [z Y y T\
B_2<8x8x+8y8y>_2<r< 7“2)—'_7“‘7’2)_0’
wt (00N\° (00N 2 2 1 at Pr  Or 1 e 020 %0
¢ (8:1:) +<8y> 7“4+7“4 r2’ 8x2+8y r’ 8x2+8y
ooood ) )
u 0“u
Asz,y)Z@(x,y)Jra—zﬂ(x,y):O =
1 1
wrr(r(l‘7y)7 0(1’, y))—i_ww%’(r(z)y)v 0(1" y))+ wr(r(xa y)a ‘9($7y)) =0

r(z,y)

I

11



A-3. 000O0Oo0obDOoboooooboog

ggbbobbooooobbobooooboboogan

e Au(z)>0(zeD\OD) 0000wz 000D OO00000OOOO0

00000000M Y max u(z,y) 00000 u(z,y) <M (V(z,y) € D) OO

(z,y)€0D
Doooo
000000000 (ze,y) € DOOOOOD C {(z,y)||lx — x> + |y — vo|* < a*}
0000000000000 «00000000e>000000

def
w:—:(xay) = u(x,y) _M_€<a2_ ‘x_xO‘Q_ |y_y0‘2>7 (x7y> €D
00000 we(x,y) <0 OODOOOODOOOOOO

u(,y) =M < e(a® = |z —wo|* = ly —wl*), Ve>0

D000000000000000.0000000000000000000
D0u(z,y)-M<00000000000

00000000 (@y) e D0 w. 000000000 Dw.(z*,y*) >000
0D00000000000000000000

e MOOOOOOVY(z,y) €D 0DOOO0000u(z)—M<00000a
000000000VY(e,y)€edDO0000

ws(x7y> :u(x,y)—M+5(|x—x0|2+\y—yo\2—a2) §O+0:0

0000 (2% y*) ¢ 0DO

* * 82 We * * 82 We * *
oDDDDDD@JﬁG[ﬁ@DDDDDaﬂthy)ﬁaaw@%y)ﬁo

000 Aw.(z*,y*) <00000000V(z,y)eD\ODOOOOO

Aw.(2,y) = Au(z,y) + eA(|r — 20> + |y —yo|*) > 04+ e x4 =4 >0
0000z y*) ¢ D\OD 000000

0000w .000000000000000000000 Qwe(z,y) <0, ¥Y(z,y) € DO

12



